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( APPLIED STATISTICS )

1. Answer the following as directed : Lx7=7
wero TAIARR fofrgad Teq fra
fa) What is price relative?
T el &2
(b) GRR = m X Total fert111ty rate

( Fill in the blank )
gaﬁwm=@f%ﬁ x T TIOR 29
( =nel 3% =1 3= )
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(2) 3

(c) What is time series?
eI &2
(d) Standard error plays a vital role in large
/ small sample theory.
( Choose the correct answer )

aufe $ AR IR/ 9 dfonf wge

BFGY R A1 3¢ |
( % TSIl MR Sfenear )
(e) How is quantity indices obtained?
RIS oI T AR T 2 2
(7 What is meant by sample?
aferf 3fercat 6 e 2

(9) What will be the form of trend equation
when trend is linear?

Tfe e 2 Sl SR Fel
=39

2. Answer the following questions briefly : 2x4=8
(@ What is wholesale price index number?
MR 74 o1 2

(b) What are the four important methods of
measuring trend?

SIS (@Y cerar DI o oS 6 R 2
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(c) What is crude death rate?
e (crude) PR 2 &2

(d) “Index numbers are economic
barometers.” Explain briefly.

‘o TR A RS SR T P

EIEIESIN
3. Answer any three from the following
questions : 5x3=15

et i e R e fefibm Tes
(a) Define the following :
oo frarTgRa sice i
(i) Stratified sampling
BAP© ST
(i) Systematic sampling
YN fowEm

(b) Discuss the various components of time
series.

FeeEE Rfen SomEemz W TIOPER
A 41 1

(c) Find Laspeyre’s quantity index number
from the data given below :

oS fid SURIFR #1 =ACANER <A JoRE

faefa 41
Ol o 2014 2018
s Y Price (¥) | Total value | Price (¥) | Total value
() P 7 (%) P I
A 5 50 4 48
B 8 48 7 49
| G 6 18 5 20
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(d) What

T I 2

(

is life

4 )

table?

Mention the
assumptions for construction of a life
table. Write two uses of life table. 1+2+2=5

SRPT SIferel s15e L CEE

FRETR {2 ot e B RN
TrE 901
(e) Prove that Fisher’s ideal index number
lies between Laspeyre’s and Paasche’s
index number,
o9 91 R S (< SABCE S
“fIfed T AT |

4. Answer the following questions :
woie Tl PIEER e iy
(a) Define Fisher’s index number. Why is
Fisher’s index number known as an
ideal index number? Calculate Fisher’s

index number from the following data :

10x3=30

2+2+6=10

=1 P Ifercet & a2 FrmT PIreR
e e P 9f e e weE SARIPE

{1 = s ety 4

Commodity

SAE) Price
74 (%)

Base Year

fofs

Current Year

bfere 7§

®) Quantity
A1

Price (¥)
74 (%)

Quantity

AT

6
2
4
10

Do

100

50

60
30

10
3
6
13

56
125
64
25

A9/785
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(S)

Or/ 5371

What is cost of living index number?

Discuss

the steps

involved

in the

construction of cost of living index
number. From the data given below,
find out the cost of living index
number :

2+3+5=10

e T 9 Pee 2 G i
TFIE M RS AcEaE i
AL 91 | Ooid SYRIFT o1 e R

pIce T 0
Base Year Current Year
Group fefe ofere 9§
7o Price (¥) | Quantity | Price (¥) | Quantity
7 (%) AR 7 (%) ARG

Wheat 10 50 6 30
LI
Rice 5 25 4 20
Bi%e
Fuel and Lighting 8 10 3 8
e S (P12
Clothing v 20 8 17
Rk
House Rent 9 30 10 45
LEASIR)
Miscellaneous 6 40 12 72
2Ciie)
A9 /785 { Turn Over )



(6)

(b) Discuss the moving average method.
Calculate five-yearly moving average

from the data given below : 4+6=10
L2 cB I 2 O e B i b I G
SRR =71 A= 5o o1% forefy 1 -
Year : 2010 2011 2012 2013 2014
=9
Sales (¥ in '000) : 64 43 4-3 34 e
&1 (°000 5FT)
Year : 2015 2016 2017 2018
=7
Sales (¥ in’000) : 54 34 24 L4
& (000 557e)
Or/ 941
Fit a trend line to the following data by
the method of least square :
7T il SRR <t Few 3of ~rafed RS
TS et <y
Year : 2000 2001 2002 2003
BT
Profit (¥ inlakh) : 60 72 75 65
7S (<113 5<hre)
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' (7)

Year : 2004 2005 2006
=9

Profit (T in lakh)

1S (A1 o) : 80 85 95

(i) Calculate the estimated trend
values.

fAefte S zg T fefa <1 |

() Also estimate the likely profit for
2008.

FAMS 2008 HTe TIEEN ASR A
@ = | 6+2+2=10

(c) What is fertility? Discuss the various
fertility rates commonly wused for
measurement of fertility. Explain the
fertility rate which is  used for

comparison of fertility situations for two
different regions. 2+6+2=10

Tl {7 e TR T THIOR TP
s 41 | S0 e Tl T (Ra©
IRTS (ZA1 TS F{ TN AL
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(8)

Or/ §24<1

Discuss the advantage of sample survey
over complete enumeration. Discuss the
merits and demerits of systematic
sampling. 5+5=10

T AR g e SRR SRR
ST 91 | R @9 SF (TRPTHR. S
0
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1. Answer the following as directed :

(9)

( ECONOMETRIC METHODS )

T TS PR Sae i -

(@)

(b)

()

A9/785

Heteroscedasticity means equal
variance.

( Write True or False )
g Roferel e 275 I |
(o= 1 =rym fory )

In autocorrelation, OLS estimates are
no longer BLUE.

( Write True or False )

Fusfe sTme OLS T Ff<emz BLUE &z
FACE |

(®7 @ w97 forn )

There is perfect collinearity between X 2
and X3 when coefficient of correlation
rp3 is

( Fill in the blank )
GfET T 8N T WW =W,
CofET X, F X, 7 TS ol q2of) Sorm
=1 A |

( =120 372 @ 1)

( Turn QOver )

1x7=7




(d)

(e)

(g)

A9/785

(10 )

What is deseasonalized or seasonally
adjusted time series?

4951S AoR fRfES e M 2

Regression models that take into
account time lags are known as
(dynamic / distributed lag) models.

( Choose the correct answer )

SR AT 3 e R R SHREe i
_ (o / frefre caer) T T A

(o TSl AR e )

Seasonal variations of a time series
occur

AN ¥Y (a1 AW
(i) within a month
9 fSogw
(i) within a week
PR oo
(iii) within a year
474 fSegw

(iv) within g day
9] fosqe

( Choose the correct answer )

(% Teach! AR Sf e )

What is multicollinearity?
2+ ST2o7 5 2

( Continued )



(11 )

2. Answer the following questions briefly : 2x4=8
TS [ e oY e i

(a) What is dummy variable?

I T ol S

(b) Write the two most common sources of
autocorrelation.

Tl TR Pl WbRele e S
T3 for |

(c) Mention two features of Koyck
transformation model.

Koyck 3“1 =129 W01 ¢y Seay <1 |

(d) Mention the methods of measuring
trend.

TS (BTN B! @S SCHY W97 |

A9 /785 ( Turn Over )




(12 )

3. Answer any three from the following
questions : 5x3=15
wors i ercaRs R e b Tew fie

fa) Define the following :
oo fPRd e f :
(i) Median lag
T4 &9
(ii) Mean lag
TR G5
(b) Mention the remedial measures when
multicollinearity is detected.
TeefRl ST foeTE A VPR a4

(c) Find out three-yearly moving average
from the data given below :

o SRR~ RRRER beTg % e T4 -
Year . 1995 1996 1997 1998 1999 2000
RES
Value of
x variable : 2 4 6 8 10 iz
x beq 1
Year . 2001 2002 2003 -2004 2005
EET
Value of
X variable : 14 16 18 20 22
x G199 =]

A91785 { Continued }



(13 )

(d) Explain the consequences of auto-
correlation.
FI(Fy ST m BIEHESEIR

(e) Explain the partial adjustment model.
SR STHCITSH SECET <771 4 |

4. Answer the following questions : 10x3=30
Sere fag1 ereared Seq i
(a) Discuss the first-order autoregressive

A9/785

scheme. Establish the mean, variance
and covariance of the autocorrelated
disturbance model. 4+6=10
A TR T TR ooy Sieema
91 | FHE IR S veied Wy, 2PRa
I F2R ey 41 |

Or/ 9341

What is heteroscedasticity? What are
the consequences of using OLS in
presence of heteroscedasticity? How
does one detect heteroscedasticity?
2+5+3=10

R fRoferer 2 Ry Roferer <$we OLS
TR Ferre 52 R Rofrer cremes
ColeTe TS ?

{ Turn QOver )




(b)

(14 )

Briefly discuss the principle of Least
Square Method (LSM) of trend fitting in
a time series. Using this principle, fit a
trend line and find the estimated trend
values from the data given below : 4+6=10

A CFaS TS e PR PAod 5
orfeCsl PR WAl I | (R ARSI RIS
wor I o1 o TS @1 S5 T F

Tomfeq fdifRe TPz Fef o

2005 2006 2007 2008 2009

Year
=Y
Rice production
(000 quintals) : 97 105 115 70 76
BIZe7q Te e
('000 F25T=)
Year n010 2011 2012 2013
=Y
Rice production
(000 quintals) : 95 90 107 82
BISE Seo e
('000 F2%T)
Or/ S%[l
Explain briefly the various reasons for
the problem of multicollinearity. What
are the consequences of multi-
collinearity? 5+5=10
oo g ST Ted ([l SRR SIS
e ) | <o) IR wererTiR 2
RAYTES ( Continued )



(15 )

(c) Explain the Koyck approach to
distributed lag models. Also explain the
adaptive expectation model. Is there any
similarity = between the adaptive
expectation model and Koyck model? If
so, what is their similarity? 4+4+1+1=10

el =@ W39 Koyckd 4=emcs! 1= 341 |
FCS RN O WG RN 40
e e SF Koyck Sf3q o™ g0
HICRCA 2 M HICR, APIREA & 2

Or/ 2471

What is dummy variable trap? How can
we overcome it? What are the uses of
dummy variable? 2+3+5=10

AT T T [ 2 S @ece 271 3
IR AT ? ASI Do IR=FAE 3 15 2

* &k

A9—7000/785 3 (Sem-6) ECO M 2




